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LABOUR WELFARE AND INDUSTRIAL RELATIONS/LABOUR AND
SOCIAL WELFARE/HUMAN RESOURCE MANAGEMENT

PAPER—II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  The managerial function of organising is to :

(A) review and adjust plans as circumstances alter.

(B) establish a programme for accomplishment of objectives.
(C) get things done through others.
(

D) create a structure of functions and duties for a group of people.

2. Match the thinkers with the management functions advocated by them.
Thinker Function
(a) Newman and Summer (i)  Organising, planning, leading and controlling
(b) Henry Fayol (i) Planning, Organising, Commanding,
Coordinating and Controlling
(c)  Luther Gullick (iii) Planning, organising, staffing, directing and
controlling

(d) Koontz and O’Donnell (iv) “POSDCORB”
(@) () () (@)

(A) @ @) (@v) (i)
(B) @) @) @) ()
© @ ) @) (Gv)
(D) @) @) (@v) (i)
3. A special kind of plan formulated in order to meet the challenge of competitors is
called:
(A) Single use plan (B) Programme (C) Strategy (D) Project
4.  Sequence the following phases of “Hawthome Experiments” in the order in which

they had been conducted :

(a) Mass Interviewing Programme (b)  Experiments on Illumination
(c) Bank Wiring Observation Test Room (d) Relay Assembly Test Room
(A) (@ () () (o)

B) (®) (@ (@ (o)

) @ b (© (@

D) (© (b)) (@ ()
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5.  ‘Unity of Command’ is violated under :
(A) Line and staff organization (B) Line Organisation

(C) Matrix organisation (D) Staff organisation

6.  Match the following :

Personal management function Deals with

(a) Job enrichment (i) determining relative worth of various
jobs

(b) Job description (ii) restructuring job content to include more
responsibility

(c) Job specification (iii) qualification of job performers

(d) Job evaluation (iv) functions required to be performed on the
job

@ (b)) @@ ()
A) @@ @) @Gv) G
(B) @) (@Gv) Gib) ()
© @ (Gv) @) (i)
(D) @ @) Gv) (i)

7.  Staffing includes the following :
(i)  Selection (i) Appraisal
(iii) Placement (iv) Recruitment
Which of the above is/are correct ?
(A) (i) only (B) (i) and (ii)
(C) (i), (1) and (iv) (D) (iv), (i) and (iii)

8.  In a line organisation, authority flows from :
(A) top to bottom (B) bottom to top

(C) sidebyside (D) none of these

9.  Anenquiry thatis conducted afresh because of the objections raised by alleged employee,

is called :
(A) ex-parte enquiry (B) domestic enquiry
(C) de-novo enquiry (D) none of the above

D—5506 4
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(@ ® () (@
(A) (1) @) (@v) (i)
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Q) @) (@v) (i) (i)
(D) @) @) (v) (i)
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10. The principle of “natural justice” means :
A) Nobody should be condemned without being heard.

(

(B) Person should not be punished twice for one offence.

(C) There should not be equitability in handling cases of misconduct.
(

D) All the above.

11. Which of the following explain the HRD concept ?
(A) It is competence building exercise.
(B) Itis a subprocess of OD.
(C) It brings about attitudinal changes in people.
(D) All of the above.

12. Who had given the ‘Work linked democracy” explanation of Quality of Work Life.
(A) Evic Tryst (B) Evic Frank
(C) Fred Luthans (D) None of the above

13. Career planning linked with multiskilling results into :
(A) linear career planning (B) protean career planning

(C) Vertical career planning (D) none of the above

14. Arrange the following in the sequence in which they occur in a training and
development programe.

(a) training programmes

(b) training evaluation

(c) determining training needs
(d) feed back

(A) (@ @ b (9

B) b (@ (© (@

© (@ (@ @b (@

D) (@ ® (@ (@
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(A) (@ (d) (b) (o

B) (b @ (© ()

€ (© (@ (b)) (d)

D) () (b) (@ (d)

D—5506 7 P.T.O.



15.

16.

17.

18.

Which of the following labs are in use in the sensitivity training ?
(A) Stranger lab (B) Cousin lab

(C) Family lab (D) All of the above

Match the following :

Contributor Behavioural Models
(a) Ivan Pavlor (i)  social learning model
(b) B.F. Skinner (i) cognitive framework
(c) Albert Bandura (iii) classical conditioning
(d) Edward Tolman (iv) operant conditioning

@ @®) @ (@
(A) (i) (@v) @G) (@)
(B) (i) @) @) ()
Q) @i Gv) @ ()
(D) (i) @) @Gv) (@)

The theory which explains affiliation in Group formation and dynamics is called :
(A) Proximity theory (B) Balance theory

(C) Exchange theory (D) Propinquity theory

Assertion :  “All hygiene factors put together do not motivate a person on the job”.
Reason : “A satisfied need is not a motivator of behaviour.”

(A) The Assertion is right but Reason is wrong

(B) The Assertion is wrong but Reason is right

(C) The Assertion distinguishes hyegiene factors from motivational factors thereby
justifying the Reason.

(D) Neither the Assertion nor the Reason is right.

D—5506 8
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19.

20.

21.

22.

Who had advanced the ‘3-D’ theory of Leadership Effectiveness ?
(A) Robert Blake and Jane S. Mouton (B) William J. Reddin
(C) Fred E. Fiedler (D) Rensis Likert

Arrange the following phases of Grid training in OD in the sequence in which they are
held.

(a) Team development

(b) Organizational goal setting and attainment
(c) Inter-group development

(d) Laboratory-Seminar Training

(A) (d) (@ () (b)

B) @ () ® (o)

€ (© () B (@

D) (d) (© B ()

Match the following practices with the name of the country where they are popularly
known.

Practice Country
(a) Self-management (i) U.S.A.
(b) Co-determination (i) U.K.
(c) Labour-management cooperation (iii) Yugoslavia
(d) Industrial democracy (iv) Germany

(@ B (o) (@)

(A) (i) (Gv) @ (D)
(B) (i) (i) (v) ()
(©) (@i @) @ (@)
(D) (v) (@) G) @)

The detailed provisions regarding unfair Labour Practices have been given under which
of the following schedules under the Industrial Disputes Act, 1947 :

(A) Schedule I and II (B) Schedule III
(C) Schedule IV (D) Schedule V

D—5506 10
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23.

24.

25.

26.

27.

28.

Which of the following is not a function of conciliation officer ?
(A) To Persuade (B) To Arbitrate

(C) To Promote Settlement (D) To Mediate

Arrange the following in the order of their time of occurrence :

a) Voluntaryism in IR policy (b) Tripartism
c¢) Voluntary Arbitration (d) Adjudication
A) (@) (o () (d)

(
(
(
B) (© (@ (d) (b
€ (@ ®) () ()
D) (@ @ ® (@)

Which part of the Indian Constitution bears provisions relating to workers’ participation
in management ?

(A) The Preamble (B)  The Directive Principles of State Policy
(C) Fundamental Rights (D) None of the above

Which one of the following is correct so for as the definition of trade union is
concerned ?

(A) Trade union is a temporary organisation
(B) Trade union is a continuous organisation
(C) Trade union is an economic organisation

D) Trade union is a political organisation

Among the following trade unions which one is called the first modern trade union of
India ?

(A) Bombay Millhands Association (B) Kamgar Hitwardhak Sabha
(C) Madras Labour Union (D) All India Trade Union Congress

Which of the following federations is not affiliated to any political party ?
(A) INTUC (B) NFITU (C) AITUC (D) HMS

D—5506 12



23.

24.

25.

26.

27.

28.

[eTyd] TR (SHTHels SAMHE) 1 JhTd <A1 a1 § 2
T (eRfee)

(D) HEATYA HET

(A) FEHd HIAT (B)
(C) H=gian & fau safa e

frAfafad 1 3% #1a @ =fed 89 & HAEER TEu |
(a) onfe ey HAifa § wfswaer (b)
(c) Tifes® T4 (d)
(A) (@ (o ((b) (d)

B) (© (@ (d) ()

€ © ®) (d (a

D) © @ ®) ()

IEREIIREII
arffaotas

IRt Gfaem & fa v § g o sfgent s gfawnfirdr 1 geem fea w2
(A) s (&) (B) A & Hifq faie fagia
(C) THifas s1far (D) TTH 9§ =I5 &l

SRl T ¢ (e 1 vard ¢ reafatad § 9 & @ afr w6 22
(A) T TF STl we

(B) < A T TRE (IeHaman) ded ©

(C) = (1o Tk anfefen Hied §

(D) << IfaA T TorHfas Hied

freafafed e afem o w9 9 9fEe G %1 Teclt Sy ¢TI el w2

(A) a2 fa<g TEfadem (B) TR feqad® |
(D) IfEd wrdt <2 e Hid

(C) WM oo’ I

freafafea § @ = @ 99 (FeRM) fwE TeHfas < 9 Tag 78 § 2

(A) IEWAIH (B) TWTEIMEAY (C) TMEA AT

D—5506 13

(D) TATHTH

P.T.O.



29.

30.

31.

32.

33.

34.

Intra-union rivalry means :

(A) rivalry between two trade unions

(B) rivalry between two federations

(C) rivalry between two factions of the same union

(D) rivalry between two confederations

Which of the following cannot be regarded as a union security measure ?
(A) Closed-shop agreement (B) Union-shop agreement

(C) Check-off (D) Open-shop agreement

Which of the following is not a type of labour legislation ?
(A) Ameliorative legislation (B) Protective legislation

(C) Social Security legislation (D) Regulative legislation

Which one of the following is called the World Parliament of Labour ?
(A) Governing body of ILO (B) International Labour Conference

(C) United Nations (D) UNICEF

Maternity Benefit Act, 1961 provides maternity benefit to women employees for a total
period of :

(A) 8 weeks (B) 10 weeks (C) 12 weeks (D) 16 weeks

Which of the following is not provided under the ESI Act, 1948 ?
(A) Sickness benefit (B) Maternity benefit

(C) Disablement benefit (D) Unemployment benefit

D—5506 14
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35.

36.

37.

38.

39.

Which of the following is not a disqualifying condition for receiving compensation
under the Workmen’s Compensation Act, 1923 ?

(A) Under the influence of drinks and drugs
(B)  Wilful disregard of safety rules
(C) Not completed two years of continuous service

(D) Wilful disregard of safety devices

Which of the following has not been provided under the Trade Unions Act, 1926 ?
(A) Provision regarding trade union recognition

(B) Collective Bargaining

(C) Unfair Labour Practices

(D) All of the above

Standing orders will, unless an appeal is preferred, come into operation on the expiry
of :

(A) 20 days (B) 30 days (C) 45 days (D) 60 days

Which of the following is not a machinery under the Industrial Disputes Act, 1947 ?
(A) Works Committee

(B) Conciliation Officer and Board of Conciliation

(C) Labour Court and Industrial Tribunal

(D) Labour Appellate Tribunal

About which of the following there is no provision under Minimum Wages Act, 1948 ?
(A) Minimum Wage Committee (B) Minimum Wages Advisory Board

(C) Fair Wage Committee (D) Central Advisory Board

D—5506 16
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(A) 20 fe= (B) 30 fga (C) 45T (D) 60 fga

sfrenfier foarg stfafam 1947 & siqia Fefafed & & & A 76 872
(A) T wEA

(B) i aTfush i wwehan s

(C) & <ETed (TR HIS) IR AN fesga

(D) e 3Tete et

AT ASIGY AT, 1984 & WEHHl & Siqvd FeAfared § fordent gasm™ T8 fham T
7?7

(A) =T wIgd H

(B) Y HSIGH HARHR dIe

(C) fud worgl S (Her A i)
(D) e HAEHR d1e
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40.

41.

42.

43.

Match the following :

Commission/ Committee Year
(a) First Factory Commission (i) 1946
(b) Royal Commission on Labour (i) 1969
(c) Labour Investigation Committee (iii)) 1931
(d) First National Labour Commission (iv) 1875

(@ (b)) (0 (@)
(A) () @) Gv) (i)
(B) (v) (@) (@iD) (@)
Q) (v) (i) @) (i)
(D) (i) @ @) (@)

Sequence the following offices from latest to earliest in their emergence.
(a) Labour Officer (b)  Safety Officer

(c) Personnel Officer (d) Welfare Officer

A) (b) (© (@ (@

B) (@ ( (@ (b

€ (© O (@ ()

D) @ () () (b

Under which Act “housing’ is a statutory provision ?

A) The Factories Act

@)

(

(B) The Mines Act

(C) The Port and Dock Workers (Regulation of Employment) Act
(

D) The Plantation Labour Act

Which of the following is not a statutory welfare measure under the Factories Act,
1948 ?

(A) Canteen (B) Creche
(C) Worker’s Cooperatives (D) First Aid
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40. TrAfafaa = fremsu -
HUTIE / S EL]
(a) 9UH Hhd HHRE (i) 1946
(b) I FHHIE A o (i) 1969
() TR T ®fEd (i) 1931
(d) TUH TS oeR HHRH (iv) 1875
(@ ) () (@)
(A) @ (@) (Gv) (D)
(B) (Gv) @) @) (@)
(©) Gv) (@) @ (D)
(D) @) @@ 3G ()
41. frsAfafed § § of ¥ o/ oTaad a &l %A | fafau |
(a) R SAferhrd (b) N A
(c) TETa SAfsr (d) TR TR
A) b) (© (@ (a)
B) (@ (@© () ()
€ (© ® (@ (@@
D) (@ (@ () (b)
42. ‘TRfEn’ fFa dfafus yaum & siqid oma g 2
(A) N T
(B) HIZH U2
(C) 1R T g% Huan (Siifass frames) eifufrm
(D) A A TE
43, Troafafad o %edt o 1948 % iqvid #H a1 Ffafus sum= 7&f 8 2
(A) Hfe (B) %% (Rre)
(C) HUAN HIwfed (D) W€ TE (Wufs fafewar)
D—5506 19
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44. Assertion : Neighbourhood Committee Development is a social responsibility of

business.
Reason : All workers cannot be provided with the Industrial housing.
(A) Assertion is right, Reason is wrong
(B) Assertion and Reason both are right
(C) Assertion is wrong, Reason is right
(D) Both Assertion and Reason are wrong

45. Match the following :

Theory of Wages Propounders
(a) Exploitation theory (i) J.S. Mill
(b)  Subsistence theory (i) J.B. Clark
(c) Marginal Productivity theory (iii)) Karl Marx
(d) Wage fund theory (iv) David Ricardo

(@ (b)) (© @)
(A) (i) (@v) @G) (@)
(B) (i) @) (@v) (@)
Q) @) (i) @Gv) @)
(D) () @ G) ()

46. Which of the following is not a component of wages ?
(A) Basic Wage (B) Dearness Allowance

(C) Fringe Benefits (D) Incentives

47. Which of the following is a method of state regulation of wages ?
(A) Wage Boards
(B) Enactment of Minimum Wage Legislation
(C) Labour Courts and Tribunals

(D) All of the above
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44. IAFURYA : TIGE FHH TTATHE AR T HHINH SMMI & |

T : e sirefits gl st =R TSt TEl HIA ST Hehd |
(A) AfeReR W, FRO e ©
(B) fehe 3R ol ST Wel ©
(C) e Tora &, FRO WL ©

(D) Ao 3R I S Terd §

45. TrAfafad =1 e S|

gl T fagia PIGRICED
(a) o fagia G) S.uE. faa
(b) THatg/Tem fagia (i) .. SR
(c) wifsa wrefefadt fasia (iii) et T
d) o v fagid (iv) fae femrel

(@ B () (@
(A) (D) (@v) @G) @)
(B) () (@) @Gv) (@)
(©) () @) @Gv) ()
(D) (i) @ G (@)

fay o

46. frsafafed § 4 f68 w5iqd 1 =k T8l gl ST Hehell ?
(A) T A (B) HETE =T
(C) erIu federny (D) WrcEme

47. Trfafea § @ frd ool & TS 90T &1 T8 el ST Gehdl © 2

(A) HeIgd A (B) g "SIl faum it
(C) ¥ <R To s (D) 3Udsq qeft
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48. Which of the following theory of migration explains the pressures of the places of origin
and attraction of the places of destination ?

(A) Affluence driven skill scarcity theory
(B) Population ecology theory

(C) Push and pull theory

(D) None of the above

49. Which of the following is concerned with intra-industry wage differentials ?
(A) Wage Survey (B) Job Evaluation

(C) Wage Board (D) None of the above

50. Which of the following is not an authorised deduction under the payment of wages
Act, 1936 ?

A) Recovery of advances

(

(B) Absence from duty

(C) Life Insurance premium
(

D) Payment to cooperative societies not approved by state governments.

-00o0-
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48.

49.

50.

yamg & freafafad § @ & 91 f9gid e & <dre 991 T<ied & Ufd SRyl sl SATSATad
FHT & ?

(A) T feam fra whafadt el (B) UIYCI¥M Sehiaiisi A
(C) 91 T I A (D) ST | @ HE off T

3fa: S Hergd fuerar % fa freafafaa § 9 ol SeRerlt #et S e €2

(A) TSIGH HA&m (B) wH oA
(C) wigh (D) SR F 4 FE T

freafafad & § & W FwAdt 7ol M Afaf=m 1936 % siata wftrsa 72 © 2
(A) 3w =T g

(B) /@ ¥ srgufeafd

(C) Sttt it Hifhed

(D) TS Heshr TiAfaa 1 QI < T TR g1 STHIfed & ¢ |

-00o0-
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